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BB D/NEL
mfm = 14.49 deg/hr, Tm = 24.84 hr
B HOREZRAL
mOdm = 0.55 deg/hr, tm = 27.32 day
B KIZDNER KA (FHEERD HER)
mfs = 15.00 deg/hr, Ts = 24.00 hr
B X [SDTREZRAL
mds = 0.04 deg/hr, ts = 365.24 day
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5147 : M2 (EXEFHEF)
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B HDONERICKDFHEF
mf =2 * fm = 28.98 deg/hr
BT =12.42 hr

5241 : K1 (BR&SkBEEE)
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B HDONER ETRER BN C KD HEE
mf = fm + dm = 15.04 deg/hr
BT = 23.93 hr

B KPZDNER & TR BN (C KD HEN]
mf =fs + 0s = 15.04 deg/hr
BT = 23.93 hr
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B HONER ETRERENC KD HEH
mf = fm -0m = 13.94 deg/hr
BT = 25.82 hr
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B K[ZDNER(C K DFHEH
mf =2 * fs = 30.00 deg/hr
BT = 12.00 hr
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